BF100m(E1L—X)

T EF
&iC
i
R S
/R &
EE B2

AL #a4

BF100m(E2L—R)

L B

d
[5

HO
EE
o i

L
===
2R10N

A

ERX/15E
ERX/#iB
EHRX =&
ESlw g 37
EXX/15E
ESlw O

ERX/FE

ERX/FE

E R K5

ERX#x)l

EXXEFH

B+200m

Rk thth
(e

ERX/FE
Ei i I 3

B B=E ASF/LE

BF400m

I EE
#E A
AR B
=8 W

ASF/ LB

ERX/FTE

ERXdtiEE

ERX A HE

EB+800m

AEE {8

EHE FEE

ERX ke

EXX/ERE

RIBHIE &

5

BF1500m

20045

|=H

10" 9
117 1
117 2
1171

11" 5

1171

11" 3

10" 8

117 4

22" 4
22" 1

22" 1

48" 4

49" 7

50" 3

52" 4

27125

2403%0

2408%h9

ERFERRE
"4H10~11H

PRIECE KFRE LR s

g B2
AL this
A+
SEIEIN
T theT
S th—

=
ik

Il

fhA Sk

il the
/s &

"iE Ml

EE BE

FnmE
8
B £&

IR EH

RiEtE &
5]

[l

Tk F3

&N #
5

ERKFE
ERX/1LO
ERXKBHE

ERXdtiEE

EXX/EFH
ERX/FFE

ESl W g 3

ERX/FFE
ERX/ EE
EXK/ =&

ERX/ EE
ERX/HE

EERX )

ERX K
ERX/FFE
ESl W g 3
ERX /=25

EHRX &

R TR

RIS &

Wk

257003

271087

25074

ST
L&
HO
fiE

o}
T

EGPN

HtE

HA
Al
B

B

I
E
BHE
Ll
I 8

KT

i

+h¥H
L)

Ok

Lkl
*Hhih
H—

1=

2 EAXED

i
e

=

(=
ER

X

HX

EH KK
EH K. ##H
ERX &8k
v, g
EXX/=E
EXX/EH

RIS &

b7

ERX LA
EHRXRE&R
BRX #E

ER K. 5%mE
EHRX/LO

ERX )

EXX/FE
v

ERXHEFEH

ERX /" EH

RIS I

10" 9
11”7 9
10" 9
1171

117 2

127 8

2577073

24505%b9



all gk BERX/LS

B+5000m

AH 8= BEHRXdiEE

BF400mH(E1L—R)
=H # ERAEE
A EE ERAES
P wth BRKFE

BF400mH(¥2L—X)
Pk #ith ERAFE
=g @A ERXER

BF4x100mR

4" 11”7 3

1653 20%)

5580

541

5476

EHXA (BRIE - RIS - KiZF- AKF)
E®AB (HF-H+JE - # - Tk
EEHXC (Bf-2H-A24-HO)
E®AD CLLUBE - #FLL - e P - F #Y)
EXXE (REF-fpE-4- /%)
EHXF (il -EE- A48 - F k)

BFER%
RME Hih ERX %
BFEEH%
®H BE ERX/ B
BFEiERk
B 5 ERXEH
#A KR ERXHE
& &E ERK/HE

BF =Bk

i BE ERXLS
FIA £ ERAHE
RN ERACHR

BFiah
BiE AR ERX/ZE
B EHE ERKX KM

BFARE

1Tm95

4m50

5m53

6m57

6m97

12m60

14m07

13m60

9m85

11m88

AEE {5

=

=S|

£

[ £7

[ £7

=
=]

52"

E{d

5

416

4176

42F)5

DNQ

425

B

C-UN

e

KE

RAR it
i NI

HE

K it

ERX

E®RX 1L

ERX /=5
ERX/FFE

ERX/FFE
EXX/3HE

EXX/FH

ERXdtiEE
ERKXHEE
ERX/#HH

ERX/ HE
ERKX#E
ERX Mz

ERXHE

4’ 33" 1

1645 00%)
5

56" 3

5455

5452

5586

2mO00

7m15
6m88

6m89

13m85
13m76

14m88

12m88

R

i

RERE

#at

TE

i

i

B

BN MR

TE

LH

o
M

E
JE

B

&
| ¥l
M

N

3w g/ 37

EH KK

EXX/ EE
ERKXHEFE

ERX/EE

ERX Rl

EXX#RH
ERX #BE
EXX#E

Edfw o NN
Edlw o
ERX#HiH

ERKX/FE

4’ 09" 1

15551%)

53" 5

5275

1Tm80

7m15
6m72

6m83

13m67
14m35

14m14

12mO05



RiE M2 BERKZ=ZE
BE EEE BEHRX R
S L/ EftX/&F
BFN\v—8

TE B ERKXHE
wE H BEERX A
% ELtX#H

BF U
=t i ERKHE

BeF

R&x BX BERX/TE
+iERRR

A T BEKR/TE
ZF100m

A BhF BERXBEHE
ZF800m

Fh DE KBS KW

ZFENEBE

ER xE BERX/FH

ZF=Eik
Hf k2 BERX/#E

ZFABE
fEE EX BELX#HAE

TFN\II—E
BE BY ERX - HEFH

TFPYE

s FE BERX/=E

30m20 mAR fE ERXHBE 34m96 IE #5h

28m31 Ik RA BERKX/ EF#H 38m59 kB FE

37m738

42m87 Nl EF BERXEH 43m65 - N

41m59 £EH X BERX TR 52m43 =k

47m78 A ##H ELXIdEE 52m50

44m08 R F& BEEX - HiFE 59m65 X Es
N MAE &

52m96 EZ BN BERX /KR 53m94 s

5720&

133

2535#4 | ILE FE RES R 257366 | BE EE
N _ #Ek AmE

4m35 =& HFE ERXX/Z=ZE 4m06 =

10m44

37m13

40m35 ER E£E EXXEH 33m54

44, T Ei
25m32 R BEEX - f#H 35m27

I

ERX K
ERKX/FE

il
ERX /AR

v

EH K. ##H

RIS &
£

ERX#H

30mO05

40m45

49m40

58m26

42m99

56m89

245r30%)6

5m84



